o] R o
| 'C = Q
.8| 0 2 2| = .S
® C (O] (=} p ¢ —
8|5 | &£ 3 i =
c85 | & & 9 s |3
" ce@ | 3 e 9
&  s83%| ¢ o g 2 |, ©
. 85810 0 827 Llsys. 8¢ &
T @ c DD T V4 Oox oM (£2/0s N N
228898 N 2| ¥X¢ - |g5ss £8 S
2528824 |0 K| 33 3 89|83 £2
028 2333 0 0| Bo<|f 28/cE = ko
AS_ EZOQ WP C=5G|8 Zol2 c
LFS N | OLf£'g|§ ? g
R R ¢
n36 362Z | ' 0 nﬂumm © 4]
2% £35)2 > ¢
95 58%)° ASgEL
5% £28¢ D
a 0 =D | 2=
= m o Q Q d
.| O 2 c ) o)
— g2 288 L] 88
o 53 258 28 ¥ Q
N ¢ . N o —_—
Sl 1588 2158 | 2B
| » oo 2 < m
c |9 ggg | |5 gl |2
© muv 5 8| 0O N 5 B
+ | o ° O € £ S
AV s 8 =
o .o 2 = S
iz gz e 9 3
o) §3 o Sl lsls|gls |°
N £a © 15131885 $
o o N o] c || O O 2|2 °
Q5 8 |§ |28|giglels |¢
E ] g £16|8|8|5 =
O
O
LO
N
¥ Ju obamojobozozs 'sAu | g3gM DM QDUOHAM 10KAM *
O
- .
Q0VSBLBS=A s e ~ an
£2°90£2L5G=X ’ N 2 [ 101-=0H | eyl | [T & 0Ly
= 06L¥| 068 |3
¥1'1G61/85=A SI%
20'G0LTLGS=X PMODIWOd—0U|0J1UOY DIUPMS < CC1=OH | 06'/%| os'svl el'lv| ') _ Wmm XY
¢ ¢ ¢ 11 7\Vo. %..M:lnr/_.
00°096L/85=A - Gl'l-=N{ =\ £L'0=Doy 6CL7| 761 2S=
T UUUS S TTHPPSY ¢ ¢ ¢ ¢ ¢ T g
06'C0L2LGG=X s/1 8270 Wz, C00-=Up\ & J6LO=POH| 606y €6V 1517|061 |of/ < LOY
09'0961/85=A ] ) N
ee'l0LTLGG=X 9/°Ly=DPUP'ZY ‘00ZNQA ‘Ll I404d = Q 16°1=OH | 6067 ¢Z'67| z¢'L¥| 161 R 0'9¢
] A
[
]
[
IRl
[
]
[
]
[ ][] =
(&)
] oo
[ I,
1] £
1|1 <
. ] - 3
S = -~
/| 82'Z=DC— > __ 1 s =
_ [ =
| i =
(]
| 1 S
4 + ‘ . [ __ ¢
_ 4_ " 0G'|=150'fb ‘00 LyA = [ ¢T}
| |
_ [
_ [
_ [
(]
_
_ [
ST =
ol ~
78'6961/85=A il 1 mNouuzD 1,
£9'7992£95=X w_ _ i //A\ I6'1=0H | 09'6%| LC6%| 9¥'L¥| 16 R @,_
_ [ %
_ [ =
Ll ; .
s/ 82'2=DC— > | 1 N Mmzﬂw
_ 1] .
3 0L0=1507 3 .
8| &l 0L0=07b 9 3 £16
£7'8/61/85=A  00'8%=0UP'Zy ‘00ZNG ‘9L 14Oid < > D M L 68
[ T o =~ ( ( ( ] T
86'999¢/6G=X = | Q 161=0H | 0G6Y 6GLY| 161 L £ 88
[[]] 3 =
[ A 0
[ ]] =
Hof =
. [ [l o~ ~
s/| 822=0 5 4
/ —> 1 e =
[[]] —
df y
=
8 4 __ =
g ~
0£'9861/85=A W \ o .
95'G892£G5=X = N Q 907=OH | 0005 ¥6'17| 907 1'yL
[ ]]
[ ]] =
[ [l >
[ ]] =
[ =y
h [ ] o =2
s/1 82'z=dC— > I 2 =
|1 - g
[ ] o5
. — =l
| 0£/0=150%10 | = | L9
2 ! ~ T
0L‘8¥=bUp'ZY ‘00ZNA ‘SL I4oid o =
0v'2002/85=£ 987 =DUPZy ‘00ZNG ‘Gl 1303a\ Il \ D !
16'Ly92L5G=X io| Q I61=0H | #C0G| 620G 8C'8y| 16 L £'96
<t
3
A
=
(3]
[o @]
|1
=
<
s/1 82'2=DC— > _ =
_ i~ S
ﬂ:W
=
)
T}
O
O
O
<
5 Ol o~
¢ — . ¢ ¢ - ™~
£C‘0G=bup'ZY ‘00ZNd ‘¥l I40id < -~
—— ; el O I
78Tz '00ZNd 71 13odaN\ i e M
[ =~ g g g g ] (
CC'6292L5G=X = < 161=0H | ¢61G| 161G 000G| 161 S 76
[
M
A
=
(&)
[o @]
|1
=
< 18
— 2
s/| 82'2=DC— > = =
ﬂ:.\
(%2}
=
=
T}
5| |
h N
0L°1L0T/85=A 0L1G=PUp'Zy ‘00ZNA ‘Tl I4oid | === | ~
[ | N ~ g ¢ ¢ 0 T 3
= \ / ESTSSSSSSSSSY) [\ =
08'G£92£6G=X =N N < 16'1= 89°¢G| 19CG| 0L0G| 161 98
=
(&)
[o @]
|1
=
<
M =
s/1 82'2=DC— > S v
n__w‘
(%2}
=
~
T}
Vo)
=
SE
¥1'1602/85=A ¥/15=Pup'Zy ‘00ZNA ‘Ll I1304d D !
20'6297L55=X GZ'cG=PuP'Zzy ‘00ZNd ‘Zl 11304d Q 107=0H | 0¢'cq| o0c'cq| 6%'16] 10 ~,/oo 009
122G=bUp'Zy ‘00ZNQd ‘LI [1501d -
[qN]
A
=
(&)
[o @]
|1
=
—
0£0=1s071b ) = 9
s/ 82'7=0C— > - N Ibr
- &
(%2}
=
=
NT)
& ~
o . . . ~>
. i L£'26=DUP'ZY "00ZNQ 0} WOid 13 X
9¢*P01Z/8G=A Z£'26=bUp'zd ‘00ZNd ‘Ol 130d o !
¥L'9092,55=X ~| //A\ I6'1=0H | 09°CG| 66CG| 80ZG| 16l S 9'¢
~
T
00
e
N
M
_
AN
0| 5
oo
ORI
 —— _
M| 5
Z| =
s/| 8z'z= = O &
= o
(=g
(%2}
=
3
T}
N
o U/
— ¢ =Dup-z ¢ ¢ 1JOJd =1
. i 12'85=0UP 24 ‘00ZNQ ‘6 140id =
[B'GILT/85=A  £Z'cG=DUP'ZY ‘00ZNd ‘6 I40id o !
8Y'895CL35=X | //A\ I6°1=0H | ¢G%G| 89%G| LLTG| 16 =2 9'96
<
[aN]
1
=
(&)
~
|1
=
—
s/1 62'2=D— > 3 o=
M
(%2}
=
<
r
o ~
19'9212/85=80'¥S=PUP'Zy ‘00ZNQ ‘8 I40id | | 9 a
‘ ° ‘ ‘ ‘ ‘ ] 3
60°L£GCLG5=X = o 6 161=0H | [C'GG| 6¥GG| 8GTG| 161 L = Ay
| % m
! A =
/ <
o ! o =
s/ 0g'z=db—> || = =
| - L
\ (%2}
| =
3| | 8
3 —
80'Z€17/9ZKS=DUP'ZY ‘00ZNd ‘L 1odd i _ D .
99'%2STLGS=X ~| //A\ L0C=OH | 06GG| 96'6G| 68'G| /0T 667
I
(&)
T
=
—
~
s/1 0s'2=D— > el ~
“ it
(%2}
=
=.
m, T}
G7'8SI7EBEFE=PUP"ZY ‘00ZNA ‘9 [1404d _ 9 !
90'0152£55=X ~| Q I61=0H | 90°9G| 9L'9G| GT%G| 16’ L 0%¢
<
[aN]
A
=
(&)
[de)
|1
=
<
~
s/1 0£'2=DC— > M =
n__w‘
=
O <
O T
LO
<
% Ol o)
£5'SS=DPUP'Zy '00ZNQ ‘S I404d & D| &
LIPEIBE8PYP Zd '00ZNA ‘S 1304a\ i o a
‘ ‘ ‘ ‘ ‘ ] 3
90°€87CL5S=X = = 161=0H | 0L9G] [89G| 96%G| 161 2 Gy
{e)
N
A
P
U/
=
(&)
[Nep]
|1
=
<
~
s/| 82'7=0C— > M =
(=g
(%2}
=
S
T}
Lo
=
. M
7LT91TL85=A $2°95=PUp'zy ‘00ZNd ‘¥ 1301d ] N-SSTV N GC0—=N/ « !
O N T e ‘ ‘ ‘ ‘ I ‘
Ce'GGVTLGG=X =N N5 = 161=0H | 008G| G9/G| ¥LGG| 161 S 0¥L
_
| \ T
_ | =
_ _
_ [ 5
_ _ ~
| | ~
| | o5
—~—
_ | =
s/ 82°2=DC— > | _ m <
| | i
_ | =
| | =
[ _ Se)
_ _ T
_ _
ol ! All |
P | | S
o0 N
62'CL12/8G=A G/'95=bUp'zy ‘00ZNA ‘€ 1Oid I __// N | 0/'0—=N D !
¥£'SEYTL9G=X =M\ N~ = I6'1=0H | 0¥'9G| 0C'8G| 6£'9G| 16’ & 18
_ 3R
_ _,N _ <
1
! H 061=1s0'tb ‘poLyM o 0’9y
: I
_ [ ]] 5
[ ] <
[ [[]] =
[ [ ] <
| [ ]] o
s/l mmhmuo_H__v [ [ [ M, rqA_T_u,
[ [[]] <
) [ [l <5
[ £
[ ]] S
[[]] T
. Coall |l 0£/0=150%0 | -
ot _ qmi_ 051=50b D01y S Lg¢
16'7812/85=A V] N _ O 1,
T N N o T T T T T
87'81¥CLSG=X R\ N “ Q 161=0H | 088G 68°9G| 161 L 0l¢
()
<
A
I
(&)
.
—
o
s/ 82'2=DC— > M, S
1
(=g
(%2}
=
S
[
k
3 =
o ~
YI'Y02/85=A_£+'8G=DUP'Zy ‘00ENA Z 1404 | =% N N\ £0'09 7185 16') !, X
7T'¥65C/GG=X ££'83=bUp‘ZYy ‘00ENA T Mold =/NirerorialN << 161=0H - o
- — -
2 O = g=
Lo . . O | D
o~ O = - B =| =
<C ~ N b} — - — L
) O = oy L Eep =
A P— (D] H ) | ==
S O O s |~ | = |2 =S| 8| &
— — I S| ol S S|l =| ==
®) o — | 2 = | & 2 =3
= ol = 2S5 S| =L
o i =2 N = S|E|E| >
b ~ ° & = =l i B — m =7 ©
— Al = = @I 2 S| =
O T | =< S | =l = =< L (-}
= © DL ) .= S| X
AN = o ol gl 5
o D sl S|Ss o=l A=
o .22 [N - | O - MI m NS I.n_|b\.
ol = = S | o B | DB 3 m
- - - PA_1VL oo - —| -— W —+—
LR RS2 e el S
|| |Nla|la|la|la| o




